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Answer Sheet
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~xponential Worksheet 2
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Answer Sheet

Question 1
y=12(4y

Question 2

O s olg | o «

1|20
2 | 80

Question 3
Ycr<d

Question 4
The y-intercept is 7 and It represents the number of

dandelions before any time has passed

Question 5
»=56(2)

Question 6
The y-intercept is 20 and it represents the number

of cherry blossoms before any time has passed

Question 7
The y-intercept is 12 and represents the number of

fruit flies in an orchard before any time has passed

Question 8
The y-intercept is 3 and it represents the height of

the beansprout before any time has passed
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